Universal Table Top TV Stand I alphason

Secure and adjustable mounting solution WWW ALPHASONDESIGNS.COM
ADDTS0311 email info@alphasondesigns.co.uk
Q16616_Al_r2
e a
REFERENCE NO:

Please retain this booklet as you will be asked
to quote this number for any warranty or
product related queries

Caution )

This product contains small items that could be a choking hazard if swallowed.Keep these items away from young children.

Make sure these instructions are read and completely understood before attempting installation. If you are unsure of any part
of this installation,please contact a professional installer for assistance.

Safety gear and proper tools must be used. A minimum of two people are required for this installation.Failure to use safety
gear can result in property damage,serious injury or death.

Please check joints every two months, making sure the screws are not loose.
Never exceed the maximum load capacity 19kg, or else it may result in product failure or personal injury.

Note: this product is intended for indoor use only. Use of this product outdoors could lead to product failure or personal injury.

Forsiktighet
Denna produkt innehaller sma delar som kan innebara en kravningsrisk om de svaljs. Hall dessa delar borta fran sma barn.

Se till att du Iast dessa instruktioner och att du helt forstar dem innan du borjar montera. Om du kanner dig osaker, vanligen
kontakta en professionell montér som kan hjdlpa dig.

Du maste anvanda sakerhetsutrustning och ratt verktyg. Minst tva personer krdvs for denna montering. Om du inte anvander
sakerhetsutrustning kan det resultera i egendomsskada, allvarlig kroppsskada eller dod.

Vanligen dubbelkolla skruvarna varannan manad for att se sa att de inte sitter [0st.

Overskrid aldrig den maximala lastkapaciteten pa 19kg, da detta kan resultera i personskada eller att produkten slutar
fungera.

Notera: Denna produkt ar menad endast for inomhusbruk.

Avertissment

Ce produit contient des petits objets qui pourraient étre un risque d'étouffement en cas d'ingestion. Eloignez-les de vos
enfants.

Assurez-vous que ces instructions sont lues et comprises avant de procéder a l'installation. Si vous n'étes pas s(r d'une étape,
contactez un installateur professionnel.

Les conseils de sécurité et les outils appropriés doivent étre respectés. Un minimum de deux personnes est nécessaire pour
cette installation.Ne pas respecter les conseils de sécurité peut entrainer des dommages matériels, des blessures graves ou la
mort.



Universal Table Top TV Stand I alphason

Secure and adjustable mounting solution WWW.ALPHASONDESIGNS.COM
ADDTS0311 email info@alphasondesigns.co.uk

Vérifiez les pieces d'assemblage tous les deux mois, en s'assurant que les vis soient bien serrées

Ne dépassez jamais la capacité maximale 19 kg, sinon vous avez le risquez d'endommager des produits ou d’entrainer des
blessures.

Notice: Ce produit est concu pour une utilisation en intérieur.

Achtung

Dieses Produkt enthalt Kleinteile, die von Kindern verschluckt werden kdnnen und somit eine Erstickungsgefahr darstellen.
Bewahren Sie diese Teile auBerhalb der Reichweite von Kleinkindern auf!.

Stellen Sie sicher, dass Sie diese Anleitung vollstandig gelesen und verstanden haben bevor Sie mit der Montage beginnen.
Falls Sie sich bei einem Punkt der Montage unsicher sind, kontaktieren Sie bitte einen Fachmann fir professionelle Hilfe.

Benutzen Sie fur die Montage eine Hebevorrichtung und geeignetes Werkzeug. Flr die Montage sind mindestens zwei
Personen erforderlich. Ohne die Verwendung einer Hebevorrichtung kénnen Gegenstande beschadigt und Personen
lebensgefahrlich verletzt werden.

Uberschreiten Sie niemals die maximale Belastbarkeit 19kg.

Hinweis: Die Wandhalterung ist ausschlieBlich flr die Verwendung im Innenbereich entwickelt. Eine AuBenmontage kann zu
Beschadigungen der Halterung und somit zu Verletzungsgefahr fihren.

Avvertenze

Questo prodotto contiene | particolari piccoli, se avesse ingerito accidentalmente, ci sara il pericolo di soffocamento, si prega di
metterli a lontano dai bambini.

Prima dell'Installazione, deve determinare di aver letto le istruzioni d’installazione e comprendere pienamente come installare,
se non potra’ capire la procedura d'installazione, prego di rivolgersi ad un installatore professionista.

Mentre l'installazione, dovete assicuratevi di mettere i servizi di sicurezza e I'uso di strumenti complementari, con almeno due
persone per completare l'installazione, I'assenza di indossare gli abiti di sicurezza, potrebbe causare i danni umani, le lesioni
gravi o morti.

Prego di controllare la connessione in ogni due mesi, prima delle installazioni, prego di confermare se esiste I'allentamento
delle viti.

Prima dell'installazione, deve assicurarsi che la capacita'di carico delle mura, non deve superare il massimo 19kg portanti,
altrimenti causera | danni del prodotto o le lesioni personali.

Nota: questi prodotti si usa all'interno di casa.

Atencion

Este producto contiene piezas pequefias, existe peligro de asfixia si el producto se ingiere. Mantener fuera del alcance de los
niflos pequefios.

Aseglrese de que estas instrucciones son leidas y completamente ententidas antes de comenzar la instalacién. Si no esta
seguro de cualquier parte de esta instalacién, por favour pédngase en contacto con un instalador professional para pedir ayuda.

Se debe untilizar equipo de herramientas y seguridad. Se necesita minimo dos paersonas para la instalacion. Si no se utiliza
equipo de seguridad puede resultar dafios a la propieda, lesiones graves o muerte.

Por favor revise las piezas conjuntas cada dos meses, asegurandose de que los tornillos no se aflojen.

Nunca exceda la carge maxima 19kg de capacidad, o de lo contrario puede resultar en la falla de producto o lesiones
personales.

Nota: este producto esta disefiado para uso interior.



Universal Table Top TV Stand I alphason

Secure and adjustable mounting solution WWW.ALPHASONDESIGNS.COM
ADDTS0311 email info@alphasondesigns.co.uk
= o

FEREE-LNERY, EAEERE, BEEZERKE, BRXLIEHTE)LERE

MEZRKIEAZTRARHATEESNAIRE, WAEEPEAN—IRELR, BHRATIHRREAR.
ZRBEVIRAZIRMETRNEE, SWERNMEEERNEN, NEERAEN.

ZERMESLFFRERMERAEENTR, ELPHBAR—RTREER, NAFREMATEBEAFRE, TEEZGHEH
.

EERAARREEZRYG, WARLESARHIAR.

X~ RU AR RENESFRRLIE L, REA, BSULWHABENAEN, TATEBIHERKAE 19kg, BUHESH
RS EARGE.

: KR RABTEN. WATEIITESH~RBFREASHE.

el

x



Universal Table Top TV Stand

Secure and adjustable mounting solution

] alphason

WWW.ALPHASONDESIGNS.COM

ADDTS0311 email info@alphasondesigns.co.uk
B2 g
. |
g
® H
B4x2
B5x2 g
B6 S
B7 ==
B1 ‘ =
\\_/
COMPONENT LIST
X6 x3 x3 x3 X2
| <
E X2 X2 E X2
= | mmmm3| & a9
x4 x1 x1 X2
YD) @ ——=0
® e
B
M5x14 (x4) M6x14 (x4) M6x30 (x4) M8x30 (x4) M8x50 (x4)
(/o {Jm () { {
(x8) (x8)




Universal Table Top TV Stand I alphason

Secure and adjustable mounting solution WWW ALPHASONDESIGNS COM
ADDTSO0311 email info@alphasondesigns.co.uk




Universal Table Top TV Stand

Secure and adjustable mounting solution
ADDTSO0311

J alphason

WWW.ALPHASONDESIGNS.COM
email info@alphasondesigns.co.uk

CHDNE

Use the correct screw
and spacer combination
for your TV.






